% SW-GO4%E it ## 2] F3

eI fHEEER

| KR

FrERR B ERENERET

HEFFEE IR RGP, FH AT, WIREAESSNE)), BRIV DB EZ T, 5] VAR,
BT, 5e AR T Bl KR s SR RE 2 0 g K JUBT S SR TR L, OF T LA i A
fhydfi ).

RERTIASRS, PERERRA

U BRSAEAEE R R RAS LT, DA A RBILB D, T oD D HORE 3 UK, AR IRECRERE, I LA Ay i
He IR

R IRE =S, HHEERR

MR PIBLBL/DS,  AE )W ORARE, 3000 I T T M MBI 6, 00 300 e S 55 58 2T, 00RO 55 A A2 12,
R ORI TS, A A R S 8 SO R 5 A % B

iRk, ERRE

T B MR LA A BRI R Bt T 11 DR e S0 58/ S R D%

BTG 2 S R R, PR 2 A 2 A

ERREDK, PEEER

EH TR, AT R B MR, 14 LA H

TSR 8 P S LLAT 8 O K R B

AR
AL F B P A SR B T 100% AR, LU DR 3 1M A3 A2 i 2T
A E

WML T SR AR B R A X, T A R e 2 R 2
WO ERAR LR, RARICAE R S




% SW-GO4%E it ## 2] F3

SW-GO4Z& FI g HER A K

E | 2 WA R Bl B K AT
AB
a AB b a = b
C2 %EQXE@ o N2 1
: 23 A At o 3 ATy
cam | BT KRS N3 A TH s
AB
R AB b a b
C3 GeITTTHIXES e D2 ol X
Tyl % Sk VA n J
4 eI D3 ol [HIXES
AB
a AB b b
C40 o THXkS B2 MU X
AB
a AB b b
cs el IHN B3 i
AB
. C6 AT A | B M
i g i s
o Sk Y b .
MERT | ceo | MRS || (ssmw) | B20 Mk
AB b
a AB b
c7 et B21 L
AB
a AB b b
C8 ESINISNeS B30 MITH X
A B
a AB A a
caM | ATTETEXIXRS B2S X
AB
4 AB b a
9 RIS B3S ol [HX
A B
AB b a
C2B /VE:TEX]ZD B4S ED]EI}XT}AA
AB b a
C3B ~Hhe B20S ﬁEETZSW
AB
AB b a
C4B MK C2BS s
AB
AB 5 a
C40B Mo A C3BS H
|| e
BT C4BS o HM
B ) (4% 18la) i
AB b a
C6B % C40BS P T
AB
— fiL i ’ C5BS 3
A 7 g C60B Mk o n
g$£1§'ﬁl i; - A AB
(#21b) C7B MK C6BS X[
AB
AB b a
CSB M{SIX}E C60BS o
A B
AB b a
C9B % C7BS I
AB
A B b a
C5SB garsiifics C8BS el T
A B
AB b a
CSSB /\A{QIX_}E C9BS zﬂ]‘:ﬂ@M
) A B N
AB b
C9SB QAL Cs8 o X[k
S Cas XN
L LVA —
C9S éﬁﬂﬂmﬁ

B EaE AR R :

® LI “a” BIENE, P>A BT,

® LI b7 BfENy, P>B A-T,

® {HAECS, C6, COOHY bk AN H: it 13 R By 4 AR




% SW-GO4%E it ## 2] F3

W AR5

SW -G 04 -C2 -ET -A220 -10 -AB | -K
25158 REAK | ABEE | SRR | hitdss | BB | EEAX A
= N . .
%Wr;; MpshiX | lomm |Z2BHE| @ ® ® @ | WHmes
OF:F:tL]
=5 R EE b is: b 223
E 2 T %=
A A 5 | 7R PN 5 5 1| 950 A [m gy 28 PN 8 1] ik 760
® i
= HlE it 5P AU =X FEREEEE
A IECT) PRt N s JBE g R0 A0 ik 10 RS g 1 R % AH 4R 4% K I
R T e A HE Al R 3
Py itk ALY M (fE B AC3, C5, C6, CO601f)
. A il (T)
E A1 [ 73
A F3(E) Sl A8 1) e B A
Q@ BERE @ #EgHFR
%5 B B 9 % ] 10 | B:4% G b 7 s RE
A240 AC240V, 60Hz; AC220V, 50Hz 20 | i K 48 )R BT 4 o R
A220 AC220V, 60Hz; AC200V, 50Hz N
A120 AC120V, 60Hz; AC110V, 50Hz @ HEEH
A110 AC110V, 60Hz; AC100V, 50Hz =H A 1 7R 5K
R240 AC240V, 60Hz; AC220V, 50Hz AB | ABR I BEF 47 R e e e i
D12 DCI12V A | ATIRREA 7 e 2
D24 DC24V B | BRI e e v

T 56




% SW-GO4%E it ## 2] F3

B #ZH2H

® 1%
RRERAEN | EREARE | RXTHATE | &RSE5IEN | RIKESIEH g
(bar) (L/min) (bar) (bar) (bar) (Kg)
315 300 210! 250 8 8.2:7.97%7

1L ARL S A8 [l iy R g KA W T ME, RS AL Il i R Y g KR Y E RS 70bar

X 2. SW-G04-C/D------- 8.2Kg ; SW-G04-B ------- 7.9Kg.
2 5 | x| BE BE(V) EETEEY THUMERNDE
‘ H2) | x| GR&EE | EBHERA) | REBHRA)| HEW)
50 100 90-110 1.80 0.51 ---
Al110 100 90-110 1.60 0.38 ---
60 110 99-121 1.60 0.45 ---
50 110 99-121 1.60 0.58 ---
A120
AC 60 120 108-132 1.60 0.49 -
50 200 180-220 1.40 0.40 ---
A220 200 180-220 1.10 0.30 ---
60 220 198-242 1.10 0.30
50 220 198-242 0.80 0.27 ---
A240
60 240 216-264 0.81 0.23 ---
D12 12 10.8-13.2 2.6 2.6
bc D24 24 21.6-26.4 1.3 1.3 31

O EREEZEMER
o A ) A R RS R TR RE £ 10%,
it 76 HE 1500V /sec,
4o 4 K FILIOOMQL), |-
B4 B A 1) 6% I ] 490,180

OGS

A “JIS” PN .

% 7 % é?ﬂ'ﬁg’;}ﬁﬁ EEBEEL 2 498 446 X 54

73~
9 W2 44 2 M6X35L 1/4"-20UNC-2B X1-1/2" 120-150Kgf - cm
(Pﬂ}ﬁﬁﬁ'ﬁ?%) 4 M10X40L 3/8"-16UNC-2B X 1-3/4" 580-720Kgf - cm

% %5 A5

i 2 P9 HS90°
OB il B
4 P22A HS90°




% SW-GO4%E it ## 2] F3

W B

@ HRHREH @ AlF %M
L 58 & — 56 I 7 7] 1 4. I R 2% JEJy: 70bar
2. Bl 5. i R W& 300 L/min
3. T R g 6. Wi B 35mm’/s
@ A& E % @ FFlEhAE
3 Arg 3
— A B @ .
ool ke 15 .
3 3 = ®
{+— g 8 o
X g 6
5 X 4
& 2 //
2 0 50 100 150 200 250 300
Uit B (L/min)
@ HTHETCHEARUTRIMREY Rt EhkERE
~ [P—~A[B—~T[P—B[A—~T[P—~T
B mm¥s| 15 | 20 | 30 | 40 | 50 2 5 4 5 6 -
“lssul 77 | 98 | 141 | 186 | 232 C3 5 3 5 5
C4 5 3 5 5 -
EH : 0.81 087|096 1.03]1.09 o - - - > .
B mm¥s| 60 | 70 | 80 | 90 | 100 Cs 7 4 5 5 5
SSU | 278 | 324 | 371 | 417 | 464 C6 5 3 5 6 1
=E 1.14 | 1.19 | 1.23 | 1.27 | 1.30 C60 7 5 7 7 2
C7 5 4 5 6 -
1 AR ER(G) Bk (AP) w[LH C8 5 4 5 5 -
AP'= AP(G/0.85) i 5tz C9 6 4 5 6 -
A A IR
ZE0 K R T PR R
—
===
l==3
e
IESS |
EEEN
******** ’ 7 348 4

——

T 58

Y-Y

AU R I




% SW-GO4%E it ## 2] F3

B RAERKR
® EFEHI

EEMEAbaNTEFETZREXRE(L/mIin)
a AEB b
BRI Pt

50 100 150 210 250 315

(bar) (bar) (bar) (bar) (bar) (bar)

300 300 300 260 200 140
C2

G LXKk 300 300 260 155 120 110

c3  AATHIXES 300 300 300 300 300 300

300 300 300 260 245 160
c4 e THIXES

300 300 260 185 140 110

300 300 300 260 200 145
cao AR THIXKG

300 300 260 155 120 110
cs TR 260 255 250 245 240 240
ce AFXIENTRA 300 300 265 255 245 235
C60 300 300 300 300 300 300
X i al K 300 300 300 300 300 300
c7  EXKS 300 300 300 290 280 255

W 300 300 285 230 170 135

c8 300 300 255 165 120 110
c9  AANLIXES 300 300 270 200 160 140
@ iz 40 | KZ R R B R K d5e K i e A

LT R T80y 4 0o 5 & de K e e i




% SW-GO4%E it ## 2] F3

@ EERN

EEBEN(bar) TR BB Z RKXHKE(L/mIin)

AB g

BEERR Nf%;}ﬁ
50 100 150 210 250 315
(bar) (bar) (bar) (bar) (bar) (bar)
B2 MITTIXRA 300 300 300 300 300 300
B3 N\EHIX% 300 300 300 300 300 300
B4 ~MITHOYEA 300 300 300 300 300 300
B21 MITHEIYEA 300 300 300 300 300 300

@ IFEEEN

EEEE N (bar) TARMBIBZ HXEE(L/min)
A B g,
BRI ML
50 100 150 210 250 315
(bar) (bar) (bar) (bar) (bar) (bar)
N2 ol TE YRS 300 300 300 300 300 300
N3 ATTHYRY 300 300 300 300 300 300




% SW-GO4%E it ## 2] F3

B EEEEMEE

R s E ALATRY A T SRS R b7 i S gL A R T A T S E R AR IS a7

T A5 5% I TR
A, B A_ B
/N b a AAN
X Ol X
P T P T

B s SE M AL (BX)

S A AL (BXS)

B =UEEEPTRRFSFR L EEERMUIA
R R TS BT < . 1 5 O G A T Rl a7
L 43
() “C27 T

fir
Al ':B

kAR G
a T >< b
T T iz
| F"||'T |
. |A|MB Alhs' )
LA /NT L >< ‘
ﬁé TT TT %
Pl IT Pl IT
AR R R o B T R R b
1 TR A7 E(C2BS) 1l 75 i #(C2B)
EAEEER AR REEEEEME
iU B 575 il & 7 7 5%
A, B b a A, B
SW-G04-CXB-3 X SW-GO04-C3¢BS-3 X
A B b a A B
C2B M{;}Egg C2BS @M;}TM
AB R A B
C3B ) C3BS eI HM
PT P T
A B b a A B
C4B C4BS o [HM
PT P T
A B b a A B
C40B Klm C40BS mll!ﬁi
A B b a A B
C5B N@Dhg C5BS E[EPETN\
A B a A B
C6B ; C6BS X aM
PT P T
AB R A B
C60B MET T ey C60BS X
PT
A B b a A B
C7B N@EE C7BS @EPH“
A B b a A B
C8B N@EE C8BS mjﬂpﬂw
A B b a A B
C9B C9BS ol
PT P T




% SW-GO4%E it ## 2] F3

B R~E LEE. 1SO4401-AD-07-4-A  EfL: mm

@ SW-G04-3-3x-%-10

4-11 4L -
4-17.5 L4l T P4l X AL (AMBES )

| 187

[/ /.
101.6 / / AZ.?
/

[

34.1

TS

@:_\@/,_x hi W}—nl i ]
1 1: -

-
Ay
|
|
|

ra
L
Iy
)) |
|7
\\ ' \\l\
\\| ~
ll|
|
|
|
|
————
|
69.9
73.1
88

| |
A

©
A 50 -
YL 1 1)

BiL

2-I7 i 4L

2-011 Bl

210

| 90 — 2-G1/2" 48 :
| | -

HhANSHIRIRS=22
(

=
|
;
|
|
i
o

130.7

2-3 I 7 B

_62




% SW-GO4%E it ## 2] F3

| RTJ' LZEE. 1SO 4401-AD-07-4-A BAI: mm

@ SW-G04-3x-3-3%-10-AB-K

T4l

4-711; .
4—@17.1?;%1% P il XALEMBE S )

I [ TR 330

i
BEE s i B
— T =
|
©
Y AL (AMB I )
B 1L
2—7 w4l
2-311 P4l
__ 210.4 o
2-G1/2" 48

|

i
N~
~ N~ ' _
d h ~ 8 ‘u_a AP IR S=22
YR J L { 2 T
E | T % ,
| ' ' < 1
| O 1ot “r 1]

@2-31 5 AL

63_




% SW-GO4%E it ## 2] F3

W AR

MO04 -04 -S -1
Fa B BE R~ i & 75 [a F ORI
o4 1| SERBIRCEE 1: PT
04: 16mm e B: AL 4% 2: NPT
06: 3/4 SB:i U K i MR | 3. SAE
B R-HE Rz mm
4-11 AL B8 8.4Kg
4-17.5 P4l
X.Y2-6 AT 65
\ = 16_- o /f —_— 29
[/ F -
i g
i
A i 1
— 88/ 2| ~ = g
—| - < O ©| ©
NS | © N
<
o i
ol ——| Y
‘ “ 2-03.6 75
~t -
C -":
1
" 4-017.5 _IH G
_ |20, *
1t
I —
<
B
- ©
Aln o
()
\>7/
s
N
ElEE LN
B % [E m # ~F
C D E
-1 4-1/2"PT —_ 4-M10X1.5P
s | -2 4-1/2"NPT —_ 4-3/8-16UNC-2B
-3 4-1/2"SAE-2B —_ 4-3/8-16UNC-2B
=1l —_— 4-1/2"PT 4-M10X1.5P
M04-04 | -B | -2 D 4-1/2"NPT 4-3/8-16UNC-2B
-3 —_ 4-1/2"SAE-2B 4-3/8-16UNC-2B
=il 4-1/2"PT 4-1/2"PT 4-M10X 1.5P
SB | -2 4-1/2"NPT 4-1/2"NPT 4-3/8-16UNC-2B
-3 4-1/2"SAE-2B 4-1/2"SAE-2B 4-3/8-16UNC-2B




% SW-GO4%E it ## 2] F3

B ot fE ¥ BB R~
F G H I
-1 2-M6 x 1.0P 2-1/4"PT
s | -2 2-1/4-20UNC-2B 2-1/4"NPT 30 60
-3 2-1/4-20UNC-2B 2-1/4"SAE-2B
=1l 2-M6 x 1.0P 2-1/4"PT
M04-04 | -B | -2 2-1/4-20UNC-2B 2-1/4"NPT — 36
-3 2-1/4-20UNC-2B 2-1/4"SAE-2B
-1 2-M6 x 1.0P 2-1/4"PT
-SB | -2 2-1/4-20UNC-2B 2-1/4"NPT 30 60
-3 2-1/4-20UNC-2B 2-1/4"SAE-2B
B 3t & T ¥ BB R~
C D E
-1 4-3/4"PT - 4-M10 x 1.5P
-S -2 4-3/4" NPT - 4-3/8-16UNC-2B
-3 4-3/4" SAE-2B - 4-3/8-16UNC-2B
1 — 4-3/4" PT 4-M10 x 1.5P
M04-06 | -B -2 — 4-3/4" NPT 4-3/8-16UNC-2B
3 - 4-3/4" SAE-2B 4-3/8-16UNC-2B
-1 4-3/4"PT 4-3/4" PT 4-M10 x 1.5P
-SB| -2 4-3/4" NPT 4-3/4" NPT 4-3/8-16UNC-2B
-3 4-3/4" SAE-2B 4-3/4" SAE-2B 4-3/8-16UNC-2B
B EEEENS
F G H |
-1 2-M6 x 1.0P 2-1/4"PT
s | -2 2-1/4-20UNC-2B 2-1/4"NPT 30 60
-3 2-1/4-20UNC-2B 2-1/4"SAE-2B
-1 2-M6 x 1.0P 2-1/4"PT
M04-06 | -B | -2 2-1/4-20UNC-2B 2-1/4"NPT — 36
-3 2-1/4-20UNC-2B 2-1/4"SAE-2B
-1 2-M6 x 1.0P 2-1/4"PT
-SB| -2 2-1/4-20UNC-2B 2-1/4" NPT 30 60
3 2-1/4-20UNC-2B 2-1/4"SAE-2B

65




% SW-GO4%E it ## 2] F3

W E A

@ [fihnsiiA
8T H A% & LLAb 2 B i,
® ZEKFM
A 5 5 T I A8 I 1) o 238 KO- 2 e, Al R A PR R
@ ZEMH
R TG A 1) [ 2 2 iﬁ*ﬁ*ﬁﬁbnrﬁé-%uw, -1 E0.0ImmbP) .,
@ EEER
A48 T Je gk A IR M B 00 A6 D) 45 00 85 5, % 7 1 T 46 o) IR0 Sz 1o B By, 7 ol 48T mE GEESED) . A9 T B o
S AV AR R O A AR, MR TS LR R B AN LR R TAY, LTI A5 I T el 1 R I ) A6 1 21 RE g
M, TR T e S . ST B, TR T e N I IR, T BT I T B
® &5| K [Eih
DA S8 Il I, HLEE o | RE g 5 1 e L Il Jih RS ) 4. 5bar k) [, dn 52 Il 3 4% e g 2 )80 8K Wl e ot 25 e
S A AR 5 X DA P o i 46 1) W B A 2 A
C3, C5, CO6, COOGfdi HI HM IR 5| Ko A0 n] i 0, G S 06 15 408 P9 SR8 5 1 RS, 55 455 6 AE I AT 11 5] A 4.5Bar
VL B BT
® TOmE
T B4 S i, e i TS
@ &4 hnE
WG AE S T R R I DU, D TS i i 3G 5 Bl G il )R B A R .
® FEHEITIZIES

”

T BiLNorthmanlffi &% .

=

FHETIRED
20
~t 15
(@)}
= 10
: ]
B 5
0/
0 10 20 30 40 50
5 ik (bar)

T 66




% SW-GO4%E it ## 2] F3

@ EriERBE Y
Bl i E R, 9 - im Mg,
® [kEREN
38 JI A ) 2 S A 0 5 eb, — bk i T RS ) R B SR AN ), R S e o S G s A e B8 S
TR, FY L EmB%R.
@ TRIBHAIEEHE
R N ER SR 7 SN i 0 o 1 N R I N R SR T A K (B NS
M6 X 35LIA o 08 &%, L4 8 1L A6 5120 ~ 150K gf - em,
MI10 X 40 LI 2 W2 44, - Hfis 185 Hl %1 F5580 ~ 720K gf - cm.,
ACTE T4 4% B50Hz, 60Hzim i .
@ Hfi
JT A T 3050 il P O IR R A L AR AL . AL R R B R BT, M. AEESE. GEZTRHIB Y.




